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[Students are suggested to give their answers in their own words as far as 
practicable. Mark will be awarded to precise and analytical answer.] 

Attempt all the questions 
Group-A [10×1=10] 

1.(a)  ∡EFB को वकैिãपक कोण कुन हो ?  
          Which is the corresponding  

  angle of ∡EFB? 
 

  (b) 'r' स.े ͧम. अध[åयास भएको व×ृतको पǐरͬध Ǔनकाãनहुोस ्l 

        Find the perimeter of the circle with radius r cm. 

2. (a) दईु ǒबÛद ुP (𝑥ଵ, 𝑦ଵ) र Q (𝑥ଶ, 𝑦ଶ) बीचको दरूȣ Ǔनकाãने सğू 

     लÉेनुहोस।् 
             Write the formula to calculate the distance between two points 

P(𝑥ଵ, 𝑦ଵ) and Q (𝑥ଶ, 𝑦ଶ). 

     (b) 0600 लाई ǑदशािèथǓत देखाउन ेगरȣ रेखाɨकन गनु[होस ्। 
    Sketch to show the bearing of 0600. 

3. (a) Ǒदइएको भेनͬचğमा छायाँ पारेको भागलाई  

          समहू सɨकेतमा देखाउनुहोस।् 

   What does the shaded portion in the given 
figure represent? 

 

     (b) 5600000 लाई व£ैाǓनक सɨकेतमा लेÉनुहोस ्l 

         Write down 5600000 in scientific notation. 

4. (a) y को मान कǓत हँुदा      
ସ

௬ି଻
       अपǐरभाͪषत हुÛछ? 

            What value of y makes 
ସ

௬ି଻
   undefined? 

     (b) मान प×ता लगाउहोस ्Find the value of: 7×x0 

    5. (a) हल गनु[होस ्Solve: 4+x=5 

     (b) Ǒदइएको तØयाɨकको ǒबèतार प×ता लगाउनहुोस।् 
           Find the range of the given data.   
            3, 2, 8, 6, 10, 5, 12, 9 

Group-B [17×2=34] 

    6. (a) Ǒदइएको ͬचğबाट x को मान प×ता लगाउनहुोस।्  

          Find the value of x from the given figure. 

      (b) Ǒदइएको ͬचğबाट x को मान प×ता लगाउनहुोस।्  

       From the given figure, find the value of x. 
 
 

 
 
 
 

        (c) ABC र DEF कुन तØय अनसुार अनǽुप हुÛछन?् एक जोडी सगंǓत      

कोणहǽको नाम लाÉनुहोस ्l  

         In the adjoining figure, by which axiom ABC and DEF are 
congruent? Write a pair of corresponding angles. 
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7. (a) यǑद RAB ⁓RYZ  भए , RB को लàबाई प×ता लगाउनहुोस।् 
        If RAB ⁓ RYZ , find the length of RB. 
 
 
 
 
 
 

 

(b) यǑद एउटा व×ृताकार पोखरȣको ¢ेğफल 308 cm² छ भने उÈत पोखरȣको   

अध[åयास कǓत हुÛछ? 

     If the area of circular pond is 308cm2, what is its radius? 

(c) एउटा घनको जालȣ बनाउनहुोस ्l  
     Draw the net of cube. 

8. (a) यǑद एउटा घनको आयातन 1728 cm³ भए भजुाको लàबाइ प×ता लगाउनहुोस ्l 

         If the volume of a cube is 1728 cm3, find the length of its side. 
    (b) (-4, 1) र (0, 4) जोͫडन ेरेखाको झुकाब प×ता लगाउनहुोस ्l  

       Find the slope of the line joining (-4, 2) and (0, 4). 

 (c) यǑद A={ s,t,o,p } र B={b,a,t} भए A-B प×ता लगाई भेन ͬचğमा देखाउनुहोस ्l 

      If A={s,t,o,p} and B={b,a,t}, then find A-B and show it in a     venn-  
diagram. 

9. (a) हल गनु[हास ्Simplify: √72 − √50 + √2 

    (b) 900 जना ͪवɮयाथȸहǾ भएको ͪवɮयालयमा 30% छाğाहǽ ͬथए भने सो 
 ͪवɮयालयमा छाğहǽको सɨÉया कǓत ͬथयो ? In a school, out of 900 
students, if 30% were girls, how many boys were there? 

 (c) यǑद 6, 9, 13, 15, 17 र m को मÚययक 11 भए, m को मान प×ता लगाउहोस:् 
       If the mean of 6, 9, 13, 15, 17 and m is 11, find the value of m. 

10. (a) खÖडीकरण गनु[होस ्Factorize: x2-3x-10 

   (b) मान Ǔनकाãनुहोस ्Evaluate: 
௠మା௠௡

௠ି௡
÷

௠௡

௠మି௡మ 

   (c) यǑद a=2, b=-1 र c=3 भए a-bbaca को मान प×ता लगाउनहुोस।् 

         If a=2, b=-1, and c=3, then find the value of a-bbaca. 

11. (a) Ǒदइएको असमानतालाई हल गरȣ सɨÉया रेखामा देखाउनहुोस ्l 

           Solve and show in number line: 3x+1>x+9 

       (b) हल गनु[होस ्Solve: 𝑥ଶ − 9𝑥 = 0 

Group-C [14×4=56] 

12. कàपासको Ĥयोग गरȣ एउटा भजुा 4.5cm भएको Ǔनयͧमत पÑचभजुको रचना    

गनु[होस ् l Construct a regular pentagon with the measure of side 4.5 cm 

by using  compass.  

13. समɮͪववाहु ǒğभजुका आधारका कोणहǽ बराबर हुÛछन ्भनी Ĥयोगɮवारा 
    Ĥमाͨणत गनु[होस ्। ( फरक फरक नापका 2 ओटा ͬचğ अǓनवाय[ छन ्। ) 

Verify experimentally that the base angles of an isosceles triangle are   
equal to each other. (Two figures of different measurements are 
necessary.) 

14. शीष[ǒबÛदहुǽ A(1, 4), B(-3, 5) र C(3, 5) भएको ǒğभजुलाई X-अ¢बाट  A'B'C' को  

ĤǓतǒबàबहǽ प×ता लगाई दवु ैǒğभजुलाई एउटै लखेाͬचğमा देखाउनहुोस ्। Draw a 

ABC with the vertices A(1, 4), B(-3, 5) and C(3, 5) on a graph 

paper, then plot the image A'B'C' after reflection through x-axis on 
the same graph paper and write the co-ordinates of A'B' and C'. 

15. 200 खेल ĤेमीहǾको सवȶ¢णमा 120 जनाले फुटबल र 95 जनाले भͧलबल मन 
पराएको पाइएको ͬथयो । यǑद 25   जनालाई  दबु ैखेल मन परेन, 

i) माͬथको जानकारȣलाई भने ͬचğमा देखाउनुहोस।्  

ii)दवु ैखेल मन पराउने åयिÈतहǾको सÉंया प×ता लगाउनहुोस।्  

iii)कǓत जनाले भͧलबल माğ मन मन पराए? प×ता लगाउनहुोस।् 

In a survey of 200 game lovers, it was found that 120 liked football and 
95 liked volleyball. If 25 did not like both games.  

(i) Represent the above information in a Venn-diagram.  
(ii) Find the number of people who liked both the games.  
(iii) How many people liked only volleyball? Find. 

16. एउटा कोठाको लàबाई चौडाईको दोÞबर र उचाइको तÞेबर छ । यǑद उÈत 

कोठाको आयतन 288 cm³ भए सो कोठाको भइँुको ¢ğेफल प×ता लगाउनहुोस।् 
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    The length of a room is twice the width and thrice the height. If the volume 

of a room is 288 cm3, then find the area of its floor. 

17. एउटा रेͫडयोको अंͩ कत मãूय ǽ. 1500छ। 10%छुट ǑदएपǓछ र यसमा 

13% ßयाट थपेपǓछ रेͫडयो सेटको मãूय प×ता लगाउनहुोस।् 

The marked price of a radio is Rs. 1500. Find the value of the radio set 
after allowing 10% discount and adding 13% VAT on it. 

18. २० जना कामदारको समहूले १५ Ǒदनमा एउटा काम परूा गन[ सÈछ। ×यो काम 
१२ Ǒदनमा सàपÛन गन[ कǓत कामदार थÜनुपछ[? प×ता लगाउनहुोस।् A group 
of 20 labours can complete a work in 15 days. How many labours 
should be added to complete that work in 12 days? Find. 

19. हǐरल ेवाͪष[क 12% åयाज दरल ेǽ. 3000 बचत गदा[ २ वष[मा उसल ेकǓत ͧमĮधन पाउँछ? 

Hari deposited Rs. 3000 at the rate of 12% per annum. How much 
amount will he get after 2 years? 

20. सरल गनु[होस ्Simplify: 
ସଶ

√ଶ଼
+

଺଴

√ସହ
− 2√20 + 2√175 

21. तल Ǒदइएको तØयाɨकको प×ता लगाउनहुोस:् 

     Find the median from the given data. 
Marked Obtained 10 20 30 40 50 60 70 
No of Students 4 7 21 34 25 12 3 

 

22. यǑद 𝑦 −
ଵ

௬
= 5 भए, 𝑦ଷ −

ଵ

௬య को मान प×ता लगुाउनहुोस ्l 

        If 𝑦 −
ଵ

௬
= 5,  find the value of 𝑦ଷ −

ଵ

௬య 

23. म.स. प×ता लगाउनहुोस ्Find the H.C.F. of:  

         x2-9, x3+27 and x2+8x+15 

24. सरल गनु[होस ्Simplify: 
ହ

௔ା௕
−

ସ

௔ି௕
+

଼௔

௔మି௕మ 

25. लेखाͬचğबाट हल गनु[होस ्Solve graphically: x+y=6 and x-y=4 

(Good Luck) 


